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Non-technical Summary 

Employment is the most important factor of economic activity. The efficient 

functioning of the labor market, i.e. matching workers and employment opportunities, 

crucially determines the smooth adjustment of economic activity to exogenous shocks. 

Hence, the labor market may be key for understanding business cycle fluctuations and 

for understanding the implications for monetary policy in particular. In this light labor 

markets recently have received considerable interest in the business cycle literature, see 

e.g. Hall (2005) and Shimer (2005), Trigari (2004) and Blanchard and Galí (2005). 

Especially European labor markets tend to be characterized by high and prolonged 

unemployment and inflexible wages. Against this background we quantitatively assess 

the role which rigid labor markets play for conducting monetary policy in a stable 

European inflation environment. 

Our model reproduces key features of the data by including two prominent rigidities in 

the labor market. First, firms may not be able to instantaneously find new employees 

and, similarly, workers have to search for jobs. Second, real wage rigidities hinder wage 

adjustments and shift the labor market adjustment from prices to quantities. In the 

framework we propose, wages translate into firms' marginal costs which establishes a 

direct channel from wages to inflation dynamics via the New Keynesian Phillips curve. 

While some studies partially analyze the impact of labor market frictions and wage 

rigidities on business cycle dynamics in New Keynesian models (see, e.g., Christoffel 

and Linzert, 2005, and Braun, 2005) we proceed a step further by embedding above 

rigidities into a dynamic stochastic general equilibrium (DSGE) model which we then 

estimate as a whole using Bayesian full information techniques as in Smets and Wouters 

(2003). To circumvent the pre-euro heterogeneity with respect to labor market 

institutions and monetary policy we base the estimation on German time series. With 

this well-calibrated framework at hand we assess the role of the labor market for the 

dynamics of the European economy and derive implications for monetary policy. 

We first use the estimated model to explore the question of how the labor market regime 

affects the transmission process of monetary policy. Adjustments in the labor market, 

e.g. the flows in and out of employment or the dynamics of real wages will affect the 

overall transmission of monetary policy to inflation. The marginal cost of labor input is 



influenced, for example, by the degree of nominal wage rigidity, the speed with which 

idle labor resources can be put to work and by the cost of searching for workers. Firms' 

marginal cost in turn determine their price setting behavior and thus drive aggregate 

inflation dynamics. In this exercise we therefore consider different degrees of (real) 

wage rigidity and different levels of labor market flexibility. 

Second we turn to examine how labor market shocks themselves influence business 

cycle dynamics. In particular, we analyze how shocks in the labor market affect the 

evolution of employment and output on the one hand and inflation dynamics on the 

other hand. If indeed shocks originating in the labor market were to strongly affect 

production and prices, these shocks would constitute valuable information for monetary 

stabilization policy. Third and finally, our study includes a careful sensitivity analysis 

with respect to the way the wage rigidity is modelled. 

Our results can be summarized as follows. First, we find that the structure of the labor 

market matters substantially for the overall behavior of the economy and the 

transmission of monetary policy on inflation in particular. The specific settings of the 

labor market, as for example the degree of wage inertia or the efficiency of the worker-

firm matching process, are found to have a notable impact. Specifically, we find that the 

degree of wage rigidity leads to more inflation persistence. Moreover, if due to 

institutional reasons jobs are harder to find, shocks to inflation will die out more slowly. 

Furthermore we find that a higher degree of wage rigidity amplifies real adjustment in 

the labor market implying stronger fluctuations in employment. 

Second, the realization of labor market shocks has an impact on the labor market itself 

but a limited influence on the other blocks of the model economy. Therefore labor 

market shocks do not contribute much to the cyclical dynamics of non-labor market 

variables - particularly inflation. This suggests that the model does not feature much 

transmission from labor markets to the rest of the economy. In our model, consumers 

perfectly insure each other against shortfalls of consumption due to unemployment. 

Easing this assumption would likely introduce further transmission. In addition, a 

further natural candidate for a change in the model structure is more closely tying price 

setting decisions to decisions in the labor market like hiring and wage setting. 



In total, to the extent the European Central Bank's task is to keep inflation low (and 

stable), policy makers need to have a good understanding of the structure of the labor-

market. The realization of labor market specific shocks, however, to a first (coarse) 

approximation does not appear to contain much information for the conduct of 

monetary policy if its aim is to achieve stable inflation and to stabilize output around its 

long-run trend. 

Pointing to future research, this latter conclusion comes with the proviso that we leave 

aside one important welfare-theoretic consideration: while labor market shocks may not 

alter actual output, they can have a bearing on natural (flex-price) or efficient output, 

see e.g. Blanchard and Galí (2005). This would in turn matter for the conduct of truly 

optimal monetary policy. 



Nicht-technische Zusammenfassung 

Die Anpassung einer Ökonomie an gesamtwirtschaftliche Schocks hängt nicht zuletzt 

von der reibungsfreien Funktion des Arbeitsmarktes ab. Dieser ist daher von höchster 

Wichtigkeit, um den Ablauf konjunktureller Schwankungen zu erklären; siehe etwa Hall 

(2005) und Shimer (2005), sowie Blanchard und Galí (2005). In Bezug auf die 

Geldpolitik wurde diese Rolle z. B. von Trigari (2004) unterstrichen. Insbesondere 

Kontinentaleuropa ist durch hohe und persistente Arbeitslosigkeit sowie durch recht 

rigide Löhne gekennzeichnet. Vor diesem Hintergrund untersuchen wir, welche Rolle 

Arbeitsmarktrigiditäten für eine stabilitätsorientierte Geldpolitik spielen. 

Unser Modell enthält insbesondere zwei für die Erklärung der Daten wichtige 

Friktionen. Zum einen modellieren wir Reibungsverluste im Arbeitsmarkt dahingehend, 

dass es für Firmen kostspielig ist, einen neuen Arbeitnehmer zu finden, und dass dieser 

Prozess durch Friktionen in der Regel einige Zeit in Anspruch nimmt (ein „search and 

matching'' Modell also in den englischen Termini). Dies sorgt für Arbeitslosigkeit auch 

im Gleichgewicht. Zum anderen verlagern Lohnrigiditäten in Form zeitversetzter 

Lohnverhandlungen den Anpassungsprozess auf dem Arbeitsmarkt von Preisen 

(Löhnen) auf die Beschäftigung. 

Der Modellrahmen, den wir vorschlagen, weist einen direkten Kanal von Löhnen auf 

die Grenzkosten der Firmen auf - und damit, über die Neu-Keynesianische 

Phillipskurve, einen direkten Kanal von Löhnen auf die Inflationsdynamik. 

Einige Studien haben bereits partiell untersucht, wie sich Arbeitsmarktrigidität auf die 

Transmission in Neu-Keynesianischen Modellen auswirkt, siehe z. B. Christoffel und 

Linzert (2005) und Braun (2005). In unserem Papier gehen wir einen Schritt weiter und 

schätzen die oben angedeutete Modellstruktur im allgemeinen Gleichgewicht mit 

bayesianischen Methoden wie in Smets und Wouters (2003). 

Um die Heterogenität in Europa vor der Währungsunion zu umgehen, greifen wir auf 

deutsche Daten zurück. Die deutsche Volkswirtschaft dient als besonders geeignetes 

Beispiel, um die Interaktion von rigiden Arbeitsmärkten und Konjunkturzyklus in einem 

Umfeld stabiler Preise zu untersuchen. Das geschätzte Strukturmodell erlaubt es uns, 

die Rolle von Arbeitsmarktstruktur und Arbeitsmarktschocks getrennt zu identifizieren - 

und Schlussfolgerungen für die Geldpolitik daraus zu ziehen. 



Wir nutzen das geschätzte Modell zuerst, um der Frage auf den Grund zu gehen, wie 

das Arbeitsmarktregime den monetären Transmissionsprozess beeinflusst. So werden 

Anpassungsprozesse auf dem Arbeitsmarkt in der Regel prägend dafür sein, wie sich 

Geldpolitik auf die Inflationsrate auswirkt, etwa durch Zu- und Abflüsse in und aus der 

Beschäftigung sowie durch den Lohnsetzungsprozess. 

Das Verhalten der Grenzkosten der Produktion über den Konjunkturzyklus wird z. B. 

durch den Grad an Lohnrigidität, die Flexibilität, mit der ungenutzte Arbeitsressourcen 

im Produktionsprozess verfügbar gemacht werden können, und die Höhe der Such- und 

Einstellungskosten beeinflusst. Die Grenzkosten wiederum bestimmen das 

Preissetzungsverhalten der Firmen und damit, über die Neu-Keynesianische 

Phillipskurve, die gesamtwirtschaftliche Inflationsdynamik. Im ersten Teil des Artikels 

berücksichtigen wir daher unterschiedliche Grade an Nominal- und Reallohnrigidität. 

Wir untersuchen hier ferner wie sich eine Veränderung der Flexibilität im Such- und 

Einstellungsprozess auf die monetäre Transmission auswirkt. 

Die zweite Frage, mit der wir uns beschäftigen, ist die der direkten Rolle von Schocks 

im Arbeitsmarkt für die Evolution des Konjunkturzyklus. Wir analysieren, wie sich 

diese Schocks in der Beschäftigung und gesamtwirtschaftlichen Produktion 

niederschlagen. Ferner untersuchen wir die Auswirkungen dieser auf die Inflationsrate. 

Der Hintergrund für diese Untersuchung ist, dass Schocks im Arbeitsmarkt eine sehr 

wertvolle Information für die stabilisierungsorientierte Geldpolitik darstellen würden, 

sollten sie in der Tat einen starken Effekt auf die gesamtwirtschaftliche Produktion und 

das Preisniveau haben. Drittens, und letztens, schließen wir eine sorgfältige 

Untersuchung darüber an, wie sensitiv unsere Studie in Bezug auf die gewählte 

Modellierung der Lohnrigidität ist. 

Unsere Ergebnisse lassen sich wie folgt zusammenfassen. Erstens zeigen wir, im 

Einklang mit der Literatur, dass die Struktur das Arbeitsmarktes zentral für die 

Anpassungsmechanismen der Ökonomie ist - und damit insbesondere auch für die 

Inflationsdynamik und folglich die Geldpolitik. Die genaue Ausgestaltung der 

Arbeitsmarktrahmenbedingungen, wie etwa das Ausmaß an Lohnrigidität oder die 

Effizienz des Such- und Einstellungsprozesses, hat beachtliche Effekte auf die monetäre 

Transmission. Im Detail finden wir zum Beispiel, dass das Ausmaß der Lohnrigidität 



Inflationspersistenz positiv bedingt. Weiterhin zeigen unsere Resultate, dass Schocks 

jeglichen Ursprungs in einem Umfeld mit starken Such- und Einstellungsfriktionen 

einen längerwährenden Einfluss auf die Inflationsrate haben. Rigidere Löhne erhöhen 

zudem deutlich die Fluktuation der Zahl der Beschäftigten; ähnliches findet sich für die 

Vereinigten Staaten in Shimer (2004) und Hall (2005). 

Zweitens finden wir, dass Arbeitsmarktschocks per se zwar einen großen Einfluss auf 

den Arbeitsmarkt (Beschäftigung und Löhne etwa) haben, eine Transmission in andere 

Teile der Ökonomie aber kaum erfolgt. Das heißt zum Bespiel, dass die Inflationsrate 

nur marginal von Schocks im Arbeitsmarkt beeinflusst wird. Die Ursachen lassen sich 

vermutlich auf unsere Modellierung zurückführen. So nehmen wir zur Zeit an, dass sich 

die Konsumenten untereinander perfekt gegen Konsumschwankungen versichern, die 

aus Arbeitslosigkeit resultieren würden. Diese Annahme aufzuweichen könnte mehr 

Transmission vom Arbeitsmarkt in die anderen Sektoren der Ökonomie hervorrufen. 

Ferner vermuten wir, dass sich mehr Transmission darüber erzeugen ließe, dass der 

Lohn- und Preissetzungsprozess enger aneinander geknüpft wird. Unsere Resultate 

scheinen jedoch, drittens,  nicht davon abzuhängen, in welcher Art und Weise wir die 

Lohnrigidität modellieren, wie wir in einer ausführlichen Sensitivitätsanalyse zeigen. 

Zusammenfassend benötigen Zentralbanken für die Stabilisierungspolitik ein gesundes 

Verständnis dafür, wie der Arbeitsmarkt strukturiert ist. In dem Maße, in dem die 

europäische Geldpolitik darauf ausgerichtet ist, Inflation auf einem niedrigen Niveau zu 

stabilisieren und die gesamtwirtschaftliche Produktion nahe am langfristigen Trend zu 

halten, scheinen  Schocks im Arbeitsmarkt hingegen nicht von äußerster Wichtigkeit zu 

sein.

Das letztere Fazit bedarf weiterer Untersuchung. Obwohl Arbeitsmarktschocks nämlich 

die tatsächliche Produktion im Aggregat kaum beeinflussen, könnten sie sehr wohl das 

natürliche Produktionsniveau (unter hypothetisch flexiblen Preisen) und das 

hypothetische effiziente Produktionsniveau verändern, siehe etwa Blanchard und Galí 

(2005). Dieses wäre für die Durchführung optimaler Geldpolitik sehr wohl von 

Bedeutung.
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i ∈ (0, 1). !
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�������	��� �����( Ct(i), ��� �� 
������ ���� �������	 ����� Bt(i),

max
{Ct(i),Bt(i)}

Et

⎧⎨⎩
∞∑

j=0

βj
{
εpref
t+j U(Ct+j(i), Ct+j−1) − g(ht+j(i))

}⎫⎬⎭ , β ∈ (0, 1), ���

���/��	 	� 	
� �����	 ����	����	

Ct(i) +
Bt(i)

PtRt
= Dt +Bt−1(i)/Pt. �"�
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 �� ���"��� �� �����
�� ����� ��������
��� �
����� �� ��������� hc ∈ [0, 1),

U(Ct(i), Ct−1) =
(Ct(i) − hcCt−1)

1−σ

1 − σ
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λt = βEt
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λt+1

Rt
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}
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����� λt = εpref
t (Ct −hcCt−1)
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�������
 �
� Πt �� ���

����� �
.����
 ����	�

�� �������� ��� ����������
 �� �������
���� ���������� �� ���� �� ����������*�� ��

g(ht(i) ) = κh,t
ht(i)

1+φ

1 + φ
, φ > 0, κh,t > 0. �/�

� ��� ��������	�
� 
� 	�� 
	���	� �
��	�
� �� �	������� ��� ���� ���	� ��� �

	��� ������� � ���
�
�
�����	�
� 
� 	�� 
	���	� �
��	�
� 	��	 ������ 	�� ���� ���	�
���� ����
����	�
� 	
 	�� �
���
� 
�	�
� ����	 ��
� 	�� �����	�
� 
� 	�� ��
�! ��
���� �� U(Ct(i), Ct−1) = 1

1−σ
Ct(i)

1−σCσh
t−1. "�
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� ���� ��
��
� ������� 
���� ������

�� �	������������ ���
���

log(κt) = log(κ)(1 − ρκ) + ρκ log(κt−1) + µκ
t , 0 < ρκ < 1,

����� µκ
t �� �� ������ ����������� ��� Vt �� ��� 
����� ���	� �� � ���������
�� ��


�	���������	
���� �� t ��� Jt ��� ���	� �� � ��
 �� t ���� ������� ��	�� � ������ �����

�� ������ t�� ����

Vt = −
κt

λt
+ Et {βt,t+1qt(1 − ρ)Jt+1} . �� 

!��� qt ������� ��� ����������� �� ������ � ������ �� t ��� ρ �� ��� 
������� �����������

���� � 
��
� �� ������� ��� �� �"�����	� ������ ����� �� ����	
���� �� t+ 1. βt,t+1 :=

β λt+1

λt
������� ��� �#	������	
 ���
��� ��������

����� ���	�� ������ �� ��� ���� ��
��� �� ����	
����� $�
� ��
 j �� ��� �����
������

���� ��
��� ��� ��� ��
� ����	
���� ��
������� ���� ��
������� ���	��� �� �����

yI
t (j) = ztht(j)

α, α ∈ (0, 1). �% 

!��� yI
t (j) 
���� ��� �
�	�� �� ��� ��
�����	� �����
������ ���� ����	
�� �� ��


j ��� zt 
���� ��� �
���
� ���� ����� �� ����	
������� &����
������ ����� ����	
���

���� ����� ����	
� �� � 
�
�������� 
����� �� ���� ��� ���
� �� ��� ���� ���� ���
� xt.

����� �� ���� ��� ���� ��	��� ���� ���� wt. '� ��� ���	� �� �� ������ t �� � ��
� ���

� ����� �������	 
��	��� 
� �
��
����
�� λt ����� �
 �� 	
� �� �

�� ��� ���� �� �������
��� ����
����������
� ���	��� ��
���	���	 ���	 ������� �
����� �
����

� �������� �� �� �	��� ��
� ��� �
����� ���� ������	�� ����� �
 � ������� �����
���� ������ �� ��
��
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� �� �������	�� �� ����
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���� ���
� �
 ����
� t ������ ������� �
 ��
�
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� �
� �
 ��
�
��� �
� ���
����
� ���� ��������
� �� ��
���

� ����� ���� �� �������� ��
�
�
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��� �
������ �� ������ ��� �
��� 
� �
 ��
�
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� �� 

� ������ �
��� �� ���
���� ���������� ��
����� ���	����	� ������
�� �� ���
�� ���� �� � 
�	����
� ��� ���������� ���
��		 �	���� �� �
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����������	
 �� �
�	
 �
 ��� 
������ ����� �� �����	����� �
 ����� ��

Jt = ψt + Et {βt,t+1 [(1 − ρ)Jt+1 + ρVt+1]} , ���

�
��� ψt �
 �
� ����
 ���� ��� ������ ����� �
�	
 ���� �� ��
	�

�� �� ������ �� ��������

�����

������� ����	�
�  � �

��� �
�� �
��� �
 ���� ����� ���� �����	���� ����� ����

�
� 
��� ��	��	� ��
���� 	�
�� !
�
 ��
���
 �
�� �� ���� ����������	����� �����


��� ������ �� "��� �� ������������ Vt = 0. !����
�� ���
 �#� ��� ��� �
�
 ������
 �
�

��	��	� ��
���� 	��������

κt

λt
= qtEt

{
βt,t+1(1 − ρ)

[
ψt+1 +

κt+1

λt+1qt+1

]}
. �$�

%�������� �������� �$� ������� 

��
 �
�� ���� ��	��	� ��
���� 	�
�
 �� �����������

����� �
� ��
	������ �&��	��� ����� �� �
� ��� ���� �
� ��������� �� � ���	
�

����
	�
�  � �

��� � 
������� '�����
�� ��� (�

�����
 ��$$)� ���� ���	
���

������� *�� ut �� �
� ���	���� �� ������
 �
��
�
���
� 
���	
��� ��� ����������

������ ������ t, ��� vt �� �
� ������ �� ��	��	��
 ��
��� �� ������ t �
 � ���	���� ��

�
� ����� ���	�� +���
 ��� ������
 ���� ��������� %� ��	
 ������ �
� ������ �� ���

���	
�
 �
 �

���� �� �� ����� �� �
� ��������� 	��
���� ������
 �� 
	��� ���	
���

���	����

mt = σmu
σ2
t v

1−σ2
t , σ2 ∈ (0, 1), ��,�

�
��� σm > 0 	�� �� �����
���� �
 �
� �-	���	� �� ���	
���� �
�	
 �
 �
� ���� ��

�
�	
 ���
 ��� ������
 ����� σ2 ������
 �
� �������� ����
� �
� ���� �� 
���	
���

������
 ��� ���
� ��
��	������� ��	���� �� �
� ���	
��� ���	�

�  � ����� �����

�



������ �����	�

 ���
� ��� ���� �
�	� 
� � ���� �


θt :=
vt

ut
. ����

��� ��
�������� ���� � ����	� �
� ���� �� ������

qt :=
mt

vt
= σmθ

−σ2
t , ����

�
 �����	� �	 ������ �����	�

� 
�
��	� ��� �
	��
��
	 �����	����� 
� 	�� ����	���
� ���

��
�������� ���� � 
������	� �
���� �	�
 � �
��

st :=
mt

ut
= σmθ

1−σ2
t , ����

�	 � �	 �
 �	����
�	� �	 ������ �����	�

� !��� 	�� 
������� ������
�
 ������ �����"
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 �	� ������
�� ���	
 � 	������� ���
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���� ���������� ���	�
�������� #���
 �	� �
����
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�

����	� ��� ���$
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	 �
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�
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�
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 ������	 � ����� ���� 
� ��� 
�
����� �	.���
	 ���
�
��	���

���
 ���		�� �
 ��

�	�  	��� ��� ����
��	�	���  
�� �
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� �	 �/���	� ���"

���	�	� �
���� 0� � �	 �
 ��
����� ���� �����$
 
 ��� 
 ��
� 
����	� �������� �����

�
 �	 �	������ �
��
	�	� 
� ���� 
���$
 ������	�	� �

���
	� 1 ��� ����� 
���
 �	

��
� ���
	 �������
 � ����
� ��
�� ψt �	 t. 0��� ��
�������� 1 − ρ ��� � ���	� �����

���� 	
� �� 
������ �� ��� ����		�	� 
� ��� 	��� ����
�� 2 � �
 ���� �	��� �	�
 ����	��

�

��	�� ��� ��� � 
� 	
� ���	� ������� �
 �����
 +��
� 1 ���$
 
 ��� 
 ������
�� �


Jt − Vt = ψt + Et {βt,t+1(1 − ρ)Jt+1} . ��3�

4



�� ���������	 
����� ��
����� ���� ������� b� ���� ����������� st �� 
��� ��	 �

��
 ���� ���	������� �� ������ ����	 � ���� 
��� ����������� (1 − ρ) ���� ���
�


��� ������� ����� ���	�
���� ������� ��� ����� �� � 
����� 
�� �� ��� �������	 ���

����
���� 	����� t ��������� ��

Ut = b+ Et {βt,t+1[st(1 − ρ)Wt+1 + (1 − st + stρ)Ut+1]} , ��� 

������ ���� �

���� ��� 
���������� �!�������� ����� �� ��� 	��������� �� 
����
g(ht)

λt
,

��� ����� �� ��� 
����� 
��� �������	 	����� �����	 t ��	 ��� ����
���� ��

Wt = wtht −
g(ht)

λt
+ Et {βt,t+1[(1 − ρ)Wt+1 + ρUt+1]} , ��" 

��#�
���� ��� ����������� �� ����� ��������	 �� t + 1 
��� ����������� ρ� $��
� ���

�������� ��
����� �� ������ ������� ������� �� �		������� ������ ������ �� ������%

����� ��� ������� �� ����� �� ���������� �� t, �� ����� ����

Wt − Ut = wtht −
g(ht)

λt
− b+ Et {βt,t+1(1 − ρ)(1 − st)(Wt+1 − Ut+1)} . ��& 

���� ���� ���������	
 '�
� ���
��	� ��
� �����	 ���� ��	 
������ ��������� ����

��� ���� 
��� ���� ���(�
� �� �	(������� 
���� 
��
� ���	 �� �� ���� �� ��� ���� �

���)� ��� �����	 ����� �� 	����	 ��

ψt(j) := xty
I
t (j) − wt(j)ht(j) −

1

2
φL (wt(j) − wt−1(j))

2 , ��* 


���� xt �� ��� ���� ���
� �� ��� �������	���� ���	� yI
t (j) �� ��� ���)� ���	�
���� ������

wt(j) �� ��� ���������� 
��� ���� �� ��� j ��	 wt−1(j) �� ���� �����	)� ���%���
��
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�������� ���� ���� ������
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 ��� �� ��	�����	�� 	� ������ ��	���	��� 	����� �� 	
�


��� 	����� ���� ���� ������
�
 	���� �� 	
� �	
�� 
��� ��� �� 
��� 	� �����
� �� 	
�

��	����  �����	�� φL > 0 ������
 
�� 
	���� 	
�
 ��	��� �
���

!�	
 ���
	"	�"������� ����� ������ �
 ����� �� 	
� �����	�	��� ��	�����	� �����	���

	
�	 	
� �������� ����� ������	 �� ������ xtmplt, ����
 	� �#��� 	
� 
����� ���� ����

��	�$

xtmplt = wt, �
��� mplt := ztαh
α−1
t . �%&�

���� ����������� 	���
 ���������
�� ����
 ��� ������
 
��� 	� ������
� 	
�

������� ���	
 ���
��� ���� �� ���
	��� ���������	 ����	���

��� '
�
� ���	
 ��� ��
"

	����	�� ��������� 	� 	
� ���������� ����� �� ������
� η. ����
 ��� ������
� ����

��	�
��� ����	��	� 
� �
 	� ������(� 	
��� ����
	�� )���	 
�����
 �� � 
	�	�"���	�����	

�
���� �� 	
� ���� ���� ��	�$

max
{wt(j)}

(Wt(j) − Ut(j) )η (Jt(j) − Vt(j) )1−η. �*+�

'
� �����
������� ��
	 ����� �����	��� �


ηJt(j)
∂[Wt(j) − Ut(j)]

∂wt(j)︸ ︷︷ ︸
:=δW,w

t (j)

= −
∂[Jt(j)]

∂wt(j)︸ ︷︷ ︸
:=δF,w

t (j)

(1 − η) (Wt(j) − Ut(j)) . �*%�

,���� ��� ���
 ��� ����	���� ��� ���
 ��� ��
�	
 �	
 ���� ����� ������� �� ��� ����

�� �� ���� �����	
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����
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���������� ��	
���
�� ���� �������� ��� ���	� �� ���� ���

δF,w
t = ht + φL

[
(wt − wt−1) + β(1 − ρ)(wt+1|t − wt)

]
, ���

δW,w
t =

ht

α− 1

{
α−

mrst

wt

}
, ����� mrst =

κh,th
φ
t

λt

�� � ���
���� 	������� ���� �� ������������ ������� �����	����� ��� ��������

������ �����	 
���
� ��� nt �� ��� 	������ �� �	������ ���
��� �� ��� ���������

�� ������ t, ������ ���������� ��
�� ������  �������� �������� ρ �� ����� ��� ���� �!

"��� ������ ���
 ������ �� t ��� �		�������� "��� ��� ���� �� ���
��� ��������� ��� �

��� "��� ��� ���� �� ���
��� ��������� ������ t ��������� ��#

ut = 1 − (1 − ρ)nt. ����

��� 	������ �� ����� 	������ ���
���$ mt, "��� ��� ���� �� �	������ ���
��� �� t+1,

��������� ��������� �	����	��� ������� ��������� ��

nt = (1 − ρ)nt−1 +mt−1. ��%�

&��� nt 	������� ��� ��������� �� ������ �	����	��� ������ "�� ���������� ������

��� ������ ���������� ��
�� �������� '��� ���� ������� ��� 	������ �� ���
��� �����

�������� ������� �� ������ t �� (1−ρ)nt� ���� ������ ��� ����������� �� ��� ����� 	��
��

��� ��� �����	������ ���� ��������� �������

����� �����
��� ���	��

(��	� �� ��� ��������� ������ ��� ����������� �� ��� ���� �������� ��� ����)�� ��

l ∈ (0, 1). ��� ��	������� �����	������ ���� ���� *������ ������ �� ��� ���� ����� ����

��������� ����������$ ����� ������ �� � ��	�������� 	��
�� ��� ���� ����� xt ��� �����

�� ��� �� ������ �	�
��	���
 ��� ñt = (1−ρ)nt
 ���
��� ��������� ��� ñt = (1−ρ)ñt−1+(1−ρ)mt−1�

���� 	�� 
��� 	��� ��	�
��� �� ��	� ��������

��



��������� ��	� 
����
� � ������������� ���� yt(l) �

������ ��

yt(l) = yI
t (l), ����

����� yI
t (l) ������� ��������� ��	 i�� ��	��� ��� ��� ��	�������� �����	������ �����

��� �� ��� ��������� �� ��� 
����
���� ���
����� xt 
���
���� ���� ��������� ��	��

	������� 
���� ��� ��
�
�� ��	 ����� ��� ������������� ���
�� �� � 	���
������
����


�	
������� 	�� �� �� ��	���� 
��
� pt(l). �� ������ !���� �"#$%� �� ����	��� ����

�� ��
� 
����� � �����	 ���
���� ϕ ∈ (0, 1) �� ��	� 
����� ���
��	�&� ����� 
��
��

'�������� !���������� (�
���)��	� ��� (���� ��**+� ��� ,	��� ��� ������� ��**%��

�� ����	� ���� ��	� ���
� 
����� ���
��	�&� ����� 
��
�� �
��������� ����- �� ���

�����&�� ��.����� ����� ��� ������ �� ����-����� �� 	������� )� 
���	���� γp ∈ (0, 1).

��������� ��	� ��
� ��� ��	��� ���
����/

yt(l) =

(
pt(l)

Pt

)−εcp
t

yt, ε
cp
t > 1, ��+�

����� Pt �� ��� �
���	� ���� 
��
� ����- ��� yt �� �� ��������� ����- �� ��	����

��� 
���0
��� ���
 �� 	������� �� � ��	�0������� ����0
��
�� ������
��� �� ��	����

εcpt � �� ����	� ���� ����� ��� �
���0
���� ���
 �� µcp
t , �� ��� ������
��� �� ��	����

log(εcpt ) = log(εcp) + µcp
t ,

���
� ��� ������ ���� ��	��

��������� ��	� ���
� ���
��	�&� ����� 
��
� �� 
����� t ��
� ��� 
��)��	 �� 	�-�	�&���

��� ����� �� ����� �����
���� )� 
������� ����� ����� 
��
� pt(l) �� ��� ���� �

���� ���


��
��� ���
����� ��� ����� ��	��� ���
����/

max
pt(l)

Et

⎧⎨⎩
∞∑

j=0

ϕjβt,t+j

[
pt(l)

Pt+j

j−1∏
k=0

(
Π

γp

t+kΠ
1−γp
)
− xt+j

]
yt+j(l)

⎫⎬⎭ , ��1�

"%



����� Πt+k �� ��� ��	���� 
� ��	���� ��
�� ��
	��
� �	�� ���
� 
�� ��	���� ���
�� �


t+ k� 	�� Π �	��� ��� ��	������ ��
�� ��
	��
� �	�� �� ���	�� ��	��� ����� ���� 
����

�
�����
� ���

Et

⎧⎨⎩
∞∑

j=0

ϕj
pβt,t+j

[
pt(l)

Pt+j
(1 − εcpt+j)

j−1∏
k=0

(
Π

γp

t+kΠ
1−γp
)

+ εcpt+jxt+j

]
yt+j(l)

⎫⎬⎭ = 0. ����

����	������ ���� ���� 
���� �
�����
� ������� �� 	 ��	��	�� !�� "������	� #�����$�

���%�� &� ���� �
 ��� ��	� �

�� ����
��

����� ������ 	�
��

'��	�� ���� 
$��	�� �� $�������� �
�$�����%� $�
���� �	������ ���� ��� ��(������	���

��
���	�� �

�� 	�� 	��	��� ���� ���
 	 ��$������	��%� �	����) $�
������ ��� ��	�

�
����$��
� ������ yt 	��
����� �


yt =

[∫ 1

0
yt(l)

ε
cp
t

−1

ε
cp
t dl

] ε
cp
t

ε
cp
t

−1

. ��*�

��� �
�� ���������� �+$�������� �
 $�
���� 
�� ���� 
� ��� ��	� �
����$��
� ������

��

Pt =

[∫ 1

0
pt(l)

1−εcp
t dl

] 1

1−ε
cp
t
. ��,�

!
�� ��	� Pt �
������� ���� ��� �
������ $���� ����+�

-�
���� ��� ��$������	��
� 
� $�
�����
�) �	���� ���	���� �� ��� �	����� �
� 	�� �

��

�������� ��	���

yt = (1 − ut)y
I
t = (1 − ut)zth

α
t = Ct. �./�

0��
�� �� ��
�� ��� �
��� �� 	 ������$��
� 
� �
���	�� $
����) �� �	�� �
 ��$�	����

��� �
�� ��	� 
�� �	�
� �	���� ��	�	������	��
� $�	�� �� ��� ��
�
���

�� ���� �� ��� ���� ��	
���
� ��	��
��	� �� 
����� �� ������������ �		�� ��� ���� �

 ������������

�		�� ���� ���� ��� ���� ��	��
��	� 
���
�
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��� ��� ����	
���
��� ������� �� 
�� ���������� �����

�� ����� �� ����	� �� �� �
������

� �������
� 	������ �� ��� 
���
� �� 
�������� ���	�

��������� ������ � �������������� �������� ���������� ������ ������ ���
� �� �����

� ��
�
��� ������������ �� ��� 
��������� 
���
 �� �������� �� ���� ������� ���
����

��� �����
������ �� ���������� ����� ��� ��� �����
������ ���
 ����� �� �������� ��

��� 
���
� � ���! ������ ���������� ��	������� ���
 ������ ����� ���
� �����! 
��"

������ ����� 	�
����

#������� $%&' �
�
����
� ��(��� ��� ����� ��������!� ���
� �� ��� ����
����� ���
 ���

�������� ��� �� ��� ���� ��)���
��� ����� ������ �� ������� ���� �� ��������
� ���
���

� 
�� ��� �� 
������ ���
 � 
��������� 	������� *�� ���� �������� $���� 
���������'

��� �� ��������� ��

ŵt = γ1m̂rst + γ2

(
κ̂t − λ̂t + θ̂t

)
− (γ2 + γ3) ĥt + ξ3χ̂t − ξ2

(
χ̂t+1|t − χ̂t

)
. $+&'

 ���

χ̂t = δ̂t
W,w

− δ̂t
F,w

=
̂

[
∂

∂wt
{η(Wt − Ut) + (1 − η)(Jt − Vt)}

]
,

����� ��� (��
 ����! ������ �� ��� ���������� ��	������ �� ��� ������ ���
 �� ������

����"��� ���
 ������ ������ χ̂t ��� ����������
� �� ����������� �� ��� �������
���

�,��� �� � ���� �������� �� � �������
�� (�
 �� ����
 ���������� ����
�� �� ��� (�
�

���"�� 
����� *��� 
���� �� �� �������	� �������������� �� ���� �������� $+&'- �������

�����	� ��� ���
 ���� ���� ��

 �� ��� ������� ��� 
����� ��� ���"��.� 
������
 ���� ��

������������ �� 
������ ��� �����
������ ���� ��� 
��� ��

��� �� �� �� ���" �� ���������


������� �� ��
���� �� ��������� ��� ���� ���� ��

 �������� ���� ������ ���
 	������

������� ����� $κ̂t − λ̂t' ����� ����� �
�
� 
����� ����� ����� ��� �� ��������� ���


�� �� �� ��� ���� �	 
���
������

ξ3 =
χ

1 −

χ

α

�
1

α
+

κθ

λwh
−

mrs

w(1 + φ)
−

b

wh

�
.

���� �� �������� 
������� �� ��� ������������ ��� ��� ����� 
���
����� �� ���� ��� �������� 
������� ��
��������� ���� �

����� ���

&/



��� �������	�� ��
����
����� � ����
�� �����
�
� �� ��
�� ��� �
 �
������ �
 ���	��

�����
���� θt. ��������
� �����
� �� 
���� ���
 ���� �������
�
 ����� ���	�� ��

 ���


���� 
��� ����������� ��� ����� ������ ����� �� �
��������� �� ������ ���� �������� ���

���
 ���� ���� ��

 �
�� �� ��� ������ ��� ���� ����
 ����
�� �
������� ���� �
 �
������

�
 ��� ���� ���� χ̂t �������� ��
�

 � ���
���� χ̂t+1|t − χ̂t �� ��������� ���� �
������� �


��� ������ ��� �!������ �� ���� � ���� �������� �
��� 
�������� �"��� �
 ������ ����


����
�� ���
 �����
� ���� �
������� ���� �
 ��� �����
� ����
��� ���� 
���� ����

�
� ���	��� �� ����� ���� �
������� �� � ������
 �!��
� �
�� ��
��#��
�
 � �!���� �

�����
�
� �"��� �
 ������

�� ������� ��� ���
 ���� ������� � ��� �"��� �� � �����
�
 ���� �
������ �
 ����
 ����
���

χ̂t, ��
 �� ���������� ��

χ̂t =
mrs
w

mrs
w − α

(m̂rst − ŵt) − φL
w

h

[
(ŵt − ŵt−1) − β(1 − ρ)

(
ŵt+1|t − ŵt

)]
.

���� ��� ������ �������� �
 ����� �� �
������
� �
 ��� ��� ������
 ��� ���	��$�

���%������ ����� �� ���	 �
� ��� ���	�� ����
������
��� &
 ����� �� ���� ������� �

���
���� φL > 0� ��� ���� ŵt − ŵt−1 �����
� ���� ���� �
������� �
� ���� ���

������
�� ���� �� ��
� � �
������
� ��� ����
 ����
�� ���� ���� �
������� ���
����

����� �� � ��
��
� �� 
���� ��� ���� ���� �
� � ������
� ���� �"��� ���
���� ����

�
������� ��� ����
�
��

'���� �
 ��� ����
 ���
�
��� �
�� �
�����
 � �
������
� ��� ���� �� ��� �
��������

��� ����� xt, ��� ��� �
���������� ���� �������� ������
�� ��
�����
 �()�� �����

���
�
���� �
��

x̂t = ŵt −
(
ẑt + (α− 1)ĥt

)
.

������� �����	�� ��� ��� ���
���
� ������ �
 �
������ �
 �����
�
 ����� xt, ������� �


�
������ �
 ���
 ����� ���
� �
 �
������ �
 �
�����
� π̂t� ��� ��� *�� +� 
����
 ,��

���

��
���� ������� ����

mrs
w

− α > 0, 	��
� �� ��� 
��� �� ��
 
����
������

(-



�����

π̂t =
β

1 + βγp
Etπ̂t+1 +

γp

1 + βγp
π̂t−1 +

(1 − ϕ)(1 − ϕβ)

ϕ(1 + βγp)
(x̂t + êt),

����� êt ������	 ��� �
	����	� 	�
�
�
�� ��� ��	� ������ ��� ������ 
� ����	 
� ��������

�
	� ���� �� ��� ������ ��� ��		 ��
�
����� ������
� ��������
� ���� ��
	�� γp �
 ���
�

��� ��� ������ ��� ������
� 
� ��
��	��� ���	 ���
��� �
 ������ �����	 ���� ����
� ����

	������ ϕ��

��� ������	
 ���
�


 �� �
�����! ����
���! �	 �		���� �
 �
���
� ��� �
����� 
�������
� ��	
����� ������	�

���� Rt.  �� ��������� ���������� �	��� ���� "������� #���� ��� #������� $%%& ��� '(((�

���	 ���� 	����� ���������� �����������  �!�
���!�� ����	 
� ��� �!��

R̂t = ρmR̂t−1 + (1 − ρm)γπEt

{
π̂t+1 − π̂t

}
+ (1 − ρm)γyŷt, �)'�

�����	��� � �

� �����	������
� 
� �
�����! �
���!� ��� ���������	 ��� �
�����������

 ��	� ����	 	���� ���� ��� ������� ���
 	��	 ������	� ����	 �� ��	�
�	� �
 ��������

�������
�	 
� ������
� ��
� ������ Et

{
π̂t+1 − π̂t

}
��� �� ��	�
�	� �
 ��� 
����� ���

ŷt.
�� *� ������
� ��� ������� 	�

���	 ������	� ����	�

+� ���
� �
� � 	������! �
�������� ������
� ������ 	�
�


log(Πt) = (1 − ρ) log(Π) + ρ log(Πt−1) + µΠ
t ,

����� µΠ
t �	 �� ������ 	�
�
�

�� ��� �������� �	
�� �� ��
��

� ���� ���� ����� 
�� ��	��
�� ����� 
�� �
� �� ���
���� �� ����
�

����� �� ��

�� ��� �	��	� �
� ��
� �� ��� ��
����
�� ����
���� �! �	��	� !
�� �
��� �	��	�� �������
� �	��	�
�

��� ���
 ��� ����� 
�� �� �

� �� ��
�	
� �� 
�
� ����� ��� ����
���� �! �	��	� !
�� �
��� ��	�
�� ��!�
�
����
��� ���� ���
����� ��
� ��� ����
���� �! �	��	� !
�� �������
��

$,



� ����������	 �	
 ������

��� ���������� ��	 ��
����� 	��� � 	��
� �� �
������ �� �	�������
 ������
 	��
��	��



������ ����������� ������ �����	 �� ����	 �� ���� ����������� ����	��� ��
������	�

	�� ��
� �
��������� ������ ����	 ��� !�����	 ����"� ��� #�
�� �
��������� ����	 

��� !�����	 ����$� ��� %���& ��� �
��������� ����'�� ��� �������
� �� ���� �����(

������ �������� �� ������� ����������� ��
������	 �	 ���� ����� �	������	 )��� *������

� 
��*���� 
����
����+����� �� ��� ���� 
��������
 *��
�		� ,� � ����	��� �����)��& 

�����
� ��� *���� ���	��� *���� ����������� �������� ���� ������� 	�����	 ���� ���	���

������
� �� *��	���� -��
������ 
�� �� ����
�� �� ���� �� ��� �	�������� *��
�		 ��

� 
��	�	���� ��� ����	*����� �������

��� ��
�	��� �� ��) ��
� )��
�� �� *��
� �� ��.����� 	���
�	 �� *���� �����������

�� ��� *��	��
� �� *�		���� ������/
����� *������	 ���������� ��*���	 �� ��� 
��� ��

��� �����	�	� !� 	��& �� 	���&� � 
��*����	� �� ��� 
����������� !� �	������ ���	�

*��������	 )��
� )� ����& ��� ��	� ��*������ ��� ��� *������ �� ���� ��� /0 ���

����� *��������	 �� ��� ��	�	 �� ���	��� ������
� ��� �	������	 �� ��� �����������

����� ������	��
� !� ��) ���� �� ��� 
���������� ��� ��� 
��	���� *��������	�

• ���	��
��� �� ������1 εcp = 11. 2�
� ��� ���	��
��� �� ���*�� )��� ��	*�
� ��

����	 )��&�� α, �	 /0�� ��� ���	��
��� �����*���	 ���� ��� ���&�* 	��
&� ,�

�	 ��������� ����	���
��	����� ���� ��� 	������� ��������� �� ��� ���&�* 	��
&�

!� 	�� ��� �)� *��
� ���	��
��� �� ������ �� 33 � ����� ��*����
 � ���&�* ��

3�4 �� ��� )����	��� 	�
��� �	 �� ���
��� ����$� ��� ���� ����� *�*��	�

• %���� 	����1 	����5��6�� ,� 	����� 	���� ����� ��
��(��(����
� ��� ����� 	����

�	 
���� ����

share =
εcp − 1

εcp
α.

�� ��� ����� ����� 	� share = (1−ρ)nwh

(1−ρ)nzhα = xα, 
�	�� ���� xαzhα−1 = w �
� y = (1− ρ)nzhα. �	��

x = εcp
−1

εcp ��� ���	��� �������	�
 �����
��
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���� �� ����	�
�� �������� 
�	 ��� ����	 ���	� ��� � 
����	����� 
�	 εcp� � �����


�	 α 	������� �� ��	 
����� �
����� �� ��
��� �� ���� ��� ���	� �
 ���� ��
���

�� �������� ��
��� �� ��� 
�		��������� �����	� �
 share. ����� ��	 
����	�����


�	 εcp = 11 ���� ������� α = 0.792.

• ���
���� 
�
��	� β = 0.99. ���� �� ��� ����	�� �
 ��� ���� ������� 	��� 	��� ��

��	 �������

•  ���	 ������ ������
���� φ = 10. ��� ������
��� �
 ����	�����	�� ������������ �


����	� 1/φ, �� ����� �� ���� ��
	��
�����
 ������� !������� " ��� "�#$� ��


����� ��� ���� �
 �	���	� !%""&$�

• '��� ���	����� σ = 1. �� ��
��� �� ��� ����������� �� �� ��� �	��	 ���� �� (����

��� �����	� !%"")$�

• (���	����� 	���� ρ = 0.08. ���� �� �������� �����	 ���� ��������� �� ��� ������
�

�� *�	�� ��� ������+ !,--&$ �

������� 
�	 ��� ��������� ����	������ �
 ���

���
��� �	��	 �� ��� �	���
���� �� ��	 ������ ��� �����	 
����	� �� ��	 �����

!���� .����

���
�� /�� ����	�����0$ �� ��� 	�1�
��� �� ��� ��	��	 1�� �����

• (��	
���� ��	��	�� u = 0.15. �� ��� ���� ��� ���� 	���� �
 �������� ��	���� ��

����� ����	 
�	
� �� "�-%#� ������ ��� ����� 
�	 ��� ����	����� 	��� �
 ρ = 0.08


	�� ������ �� �		��� �� � ���� 
	�
���� �
 ���	
���� ��	��	� �
 u = 1−(1−ρ̄)n =

0.149. ��� ����� �
 u �� ��	�� �� 
����	���� ���� ��� �2
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λ̂t = r̂real
t + Etλ̂t+1.

λ̂t = εpref
t −

σ

1 − hc
{ĉt − hcĉt−1}.

���� ������� ��� 	
��� ��

����

ĉt =
hc

1 + hc
ĉt−1 +

1

1 + hc
Etĉt+1 −

1 − hc

σ(1 + hc)
r̂real
t +

1 − hc

σ(1 + hc)
(ε̂pref

t − Etε̂
pref
t+1 ).

r̂real
t = R̂t − Etπ̂t+1.

ŷt = n̂t + ẑt + αĥt.

m̂t = σ2ût + (1 − σ2)v̂t.

ŝt = m̂t − ût.

q̂t = m̂t − v̂t.

θ̂t = ŝt − q̂t = v̂t − ût.

n̂t = (1 − ρ)n̂t−1 + ρm̂t−1.

ût = −(1 − ρ)
n̄

ū
n̂t.

q̂t = κ̂t−(1−β(1−ρ))Etλ̂t+1+
ρ

1 − ρ
Etρ̂t+1−(1−β(1−ρ))Etψ̂t+1+β(1−ρ)Et {q̂t+1 − κ̂t+1} .

ψ̂t =
1

ψ

{
x zh

α
{
x̂t + ẑt + αĥt

}
− wh

{
ŵt + ĥt

}}
.

m̂plt = ẑt + (α− 1)ĥt.

m̂rst = κ̂ht + φĥt − λ̂t.

R̂t = ρR̂t−1 + (1 − ρ)γπ(π̂t+1|t − π̂t) + (1 − ρ)γyŷt.

π̂t =
β

1 + βγ
Etπ̂t+1 +

γ

1 + βγ
π̂t−1 +

(1 − ϕ)(1 − ϕβ)

ϕ(1 + βγ)
(x̂t + êt).

êt =
1

1 − ε
ε̂cpt .
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x̂t + m̂plt = ŵt.

��������

x̂t + ẑt + (α− 1)ĥt = ŵt.

��	
 ���� 	
�	 ��� ���
	�	�������
 ������������

ψ̂t = ŵt + ĥt. ����

����� 	
�� 
��
 ���


ŵt = ξ1χ̂t + γ1m̂rst + γ2(κ̂t + θ̂t − λ̂t − ĥt) − γ3ĥt − ξ2Etχ̂t+1. ����

ξ1 =
1

1 − χ
α

{
χ

{
1

α
+

κθ

λhw
−

mrs

w(1 + φ)
−

b

hw

}
+

χ

1 − χ

{
κ

λqhw
(1 − s)

}}
.

ξ2 =
1

1 − χ
α

{
(1 − s)

κ

λqhw

χ

1 − χ

}
.

γ1 =
1

1 − χ
α

{
mrs

w(1 + φ)
(1 − χ)

}
.

γ2 =
1

1 − χ
α

{
χ
κθ

λhw

}
.

γ3 =
1

1 − χ
α

{
(1 − χ)

b

hw

}
.

χ̂t = (1 − χ)
{
δ̂w,w
t − δ̂f,w

t

}
.

δ̂w,w
t = ĥt −

mrs
w

α− mrs
w

(m̂rst − ŵt).

δ̂f,w
t = ĥt +

w

h
φL

[
(ŵt − ŵt−1) − β(1 − ρ)(ŵt+1|t − ŵt)

]
.
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ψt + ���� �
��� = xtzth
α
t − wtht = xtmplt

ht

α
− wtht = wtht

�
1 − α

α

�
.
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L := w

h
φL/1000.
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���� �������� �� vact := (V act − mean(V act))/mean(V act) �
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ρm ����� ������ 
��� ���� ���� ���� ���� ����

γπ ����� ������ 
��� ���� ���� ���� ���� ��
�

γy ����� ������ 
��� ���� ���� ���
 ���� ����

hc ����� ������ 
��� ���� ���� ���� ���� ���


ϕ ��
�� ������ 
��� ��
� ��
� ��
� ��
� ��
�

γp ����� ������ 
��� ���� ���� ���� ���� ����

σ2 ����� ������ 
��� ���� ���� ���� ���� ����

φnew
L ����� ������ 
��� ���� ���� ���� ���� ����
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 �� � ��!	

ρπ̄ ����� ������ 
��� ���� ���� ���� ���� ����

ρκ ����� ������ 
��� ���� ���� ���� ���
 ����

ρz ��
�� ������ 
��� ��
� ��
� ��
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ρκh
����� ������ 
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µπ̄ ����� #
� �
�$ ����� ����� ����� ����� �����

µpref ����� #
� �
�$ ����� ����� ����� ����� �����

µz ����� #
� �
�$ ����� ����� ����� ����� �����

µcost−push ����� #
� �
�$ ����� ����� ����� ����� �����

µκ ����� #
� �
�$ ����� ����� ����� ����� �����

µκh ����� ������ 
��� ����� ����� ����� ����� �����

������ ��������� ��������� ���	
 ���
��� ����� ������ ���	 �	� �	 ��� ����������������	
� ��
������
 ����
��	�� ��� �	������	
 ����������	 �� ���� ���� q = 0.7391, s = 0.4928, w h/y = α = 0.72, κ/

�
λy

�
= 1.4771,

b/
�
wh

�
= 0.5, u = 0.15 �	� v = 0.1.
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r̂(t), ŷ(t+ j) r̂(t), r̂(t+ j) r̂(t), π̂a(t+ j) r̂(t), n̂(t+ j) r̂(t), ŵ(t+ j)
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t + Ĵt − δ̂F

t . ����

δ̂W
t = 1−β̃

(α−1)

(
1 + α−1−φ

α−1

)
ŵ∗
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